Roll a 6-faced dice.
Work out the value of the expression with your number,
This Is your score.

AS a pair

Dice Substitution

level g

The largest score wins the game and starts the nexl game.

If you are waorking alone
Explore the difference between the larger and smaller scores for each

exXpression.

Use dice with a different numbers of faces and continue the investigation.

Maths File

Game 1

Game 2

First
Dice, x

Score

Second
Dice, x

Score

First
Dice, x

Score

Second
Dice, x

Score

X+

10 - x

bx

Ju+2

dx -1

2x+5H

10x% -1

20-x%

TOTAL
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Dice Substitution

Roll two 6-faced dice,
Wiork out the value of the expression with your number,
This is your score.

) 3

ca M
f ‘ As a pair
The largest score wins the game and starts the next game
If you are working alone
Explore the difference between the larger and smaller scores for each
expression.

Use dice with a different numbers of faces and continue the investigation.

Game 1

First Value of Second | Value of Difference
Dice, x expression Dice, x expression in values

X{x-1)

xZ+2

(x+ 2)(x+1)

(3% +2)(x+ 1)

x<-1

(2% -1Hx-1)

(4x-3)x+1)

(2%+3){3x+2)

X{x+ 10)

e+ S)x=1)(x+E)
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Maths File
Dice Substitution

Roll two 6-faced dice.
Work out the value of the expression with your number.
This is your score.

As a pair
The largest score wins the game and starts the next game.

If you are working alone

Explore the difference between the larger and smaller scores for each
EXpression.

Use dice with a different numbers of faces and continue the Investigation.

Game 1
First Value of Second | Value of Difference
Dice, x axpression Dice, x axpression between values

X(x+2)(x+3)

®3x-1)(2x+1)

x 2(2x-1)

(x-T)x-8)

(- 1)x+1)

(3x-7)Hox - 8)

(4% -3)(x-5)

X{x-7)x -8)
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Maths File
Matching Hexagons

level ﬁ

Cut all the hexagon tiles and place the tile with 3 numbers at the
centre of your design. Work out the solution to each eguation and
then complete the design by matching edges with the same number.

This is the final shape to be achieved.

= Ex\
2x=4
4x = 20
Xx+5 =12
L

2n=3x
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Maths File
Matching Hexagons

level @

Cut all the hexagon tiles and place the tile with 3 numbers at the
centre of your design. Complete the design by matching edges
with the =olution or the same number.

This is the final shape to be achieved. <

3(x-1) = 12

-
1dx+2 = 4o+
2 4
11 /

2%-1=4x-1
22-x= 14/
4(x-2) = 36
9
4
3x-1= 5x-1
\ 5

2(x-3) = 12
9
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Maths File
Matching Hexagons

level e

Cut all the hexagon tiles and place the tile with 3 numbers at the
centre of your design. Complete the design by matching edges
with the solution or the same number.

Thisis the final shape to be achieved.
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